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ID:1861

1. The number of radial and angular nodes in 4d orbital are respectively

(1) 1 and 2 (2) 3 and 2 (3) l and 0 (4) 2 and 1

4d d{kd esa f=T; rFkk dksf.k; uksMksa dh la[;k,¡ Øe”k% gSa __________A

(1) 1 rFkk 2 (2) 3 rFkk 2 (3) l rFkk 0 (4) 2 rFkk 1

Ans. Official Answer NTA (1)

Sol. Radial node = n – l – 1

                   = 4 – 2 – 1

                   = 1

Angular node (l) = 2

ID:1862

2. Match List I with List II.

List –I
Enzyme

List –II
Conversion of

A. Invertase I. Starch into maltose

B. Zymase II. Maltose into glucose

C. Diastase III. Glucose into ethanol

D. Maltase IV. Cane sugar into glucose

Choose the most appropriate answer from the options given below:

lwph –I dk feyku lwph –II ds lkFk djsa %

lwph –I
¼,Utkbe½

lwph –II
¼:ikUrj.k½

A. buoVsZt I. LVkpZ dks ekYVksl esa

B. Mk;LVst II. ekYVksl dks Xywdksl esa

C. tkbest III. Xywdksl dks ,FksukWy esa

D. ekYVsl IV. xUus dh “kdZjk dks Xywdksl esa

uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqusa %
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(1) A-III, B-IV, C-II, D-I (2) A-III, B-II, C-I, D-IV

(3) A-IV, B-III, C-I, D-II (4) A-IV, B-II, C-III, D-I

Ans. Official Answer NTA (3)

Sol. (A) Invertase  Cane sugar  Glucose and fructose

(B) Zymase  Glucose  Ethanol and CO
2

(C) Diastase  Starch  Maltose

(D) Maltase  Maltose  Glucose

ID : 1863

3. Which of the following elements is considered as a metalloid?

fuEufyf[kr rRokas esa dkSu&lk mi/kkrq gS \

(1) Sc (2) Pb (3) Bi (4) Te

Ans. Official Answer NTA (4)

Sol. Tellurium is metalloid

ID : 1864

4. The role of depressants in ‘Froth Floation method’ is to :

(1) Selectively prevent one component of the ore from coming to the froth

(2) Reduce the consumption of oil for froth formation

(3) Stabilize the froth

(4) Enhance non-wettability of the mineral particles

Qsu Iyou fof/k esa vouedksa dh Hkwfedk gS %

(1) v;Ld ds ,d ?kVd ij Qsu esa vkus ij oj.kkRed jksd

(2) Qsu cuus esa rsy ds mi;ksx dks ?kVkuk

(3) Qsu dks LFkkf;Ro nsuk

(4) v;Ld d.kksa dh vDysnuh;rk dks c<+kuk

Ans. Official Answer NTA (1)

Sol. The role of depressants is to selectively prevent

one component of the ore from coming to froth.
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ID : 1865

5. Boiling of hard water is helpful in removing the temporary hardness by converting calcium hydrogen

carbonate and magnesium hydrogen carbonate to

(1) CaCO
3
 and Mg(OH)

2
(2) CaCO

3
 and MgCO

3

(3) Ca(OH)
2
 and MgCO

3
(4) Ca(OH)

2
 and Mg(OH)

2

ty dh vLFkk;h dBksjrk dks lekIr djus ds fy, dBksj ty mckyuk lgk;d gksrk gSA blls dSfY”k;e gkbMªkstu

dkcksZusV rFkk eSXuhf”k;e gkbMªkstu dkcksZusV dk :ikarj.k fuEufyf[kr esa ls fdlesa gks tkrk gS \

(1) CaCO
3
 rFkk Mg(OH)

2
(2) CaCO

3
 rFkk MgCO

3

(3) Ca(OH)
2
 rFkk MgCO

3
(4) Ca(OH)

2
 rFkk Mg(OH)

2

Ans. Official Answer NTA (1)

Sol.    Boiling
3 22 2

Mg HCO Mg OH 2CO  

  Boiling
3 3 2 22

Ca HCO CaCO H O CO    

ID : 1866

6. s-block element which cannot be qualitatively confirmed by the flame test is

s-CykWd dk rRo ftldh xq.kkRed igpku ugha dj ldrs gSa] og gS &

(1) Li (2) Na (3) Rb (4) Be

Ans. Official Answer NTA (4)

Sol.
Metal Li Na K Rb Cs

Colour Crimson red Yellow Violet/Liac Red violet Blue 

Metal Be Mg Ca Sr Ba

Colour No colour No colour Brick red Crimson red Apple green

ID : 1867

7. The oxide which contains an odd electron at the nitrogen atom is

og vkWDlkbM ftlesa ukbVªkstu ijek.kq ij ,d fo’ke bysDVªkWu gS] gS %

(1) N
2
O (2) NO

2
(3) N

2
O

3
(4) N

2
O

5

Ans. Official Answer NTA (2)



Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 26 June  Shift-2

Page No. 5

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Sol. N N O  N
N N

NN

OO

O O O

O O

O O

O
–

·

ID : 1868

8. Which one of the following is an example of disproportionation reaction ?

fuEufyf[kr esa ls dkSu&lh ,d vlekuqikru vfHkfØ;k dk mnkgj.k gS \

(1) 2
4 4 2 23MnO 4H 2MnO MnO 2H O     

(2) +
4 2 2MnO + 4H + 4e MnO + 2H O  

(3) + 2+
4 2 210I + 2MnO +16H 2Mn + 8H O + 5I  

(4) 2 2
4 2 3 2 2 48MnO +3S O + H O 8MnO  + 6SO + 2OH   

Ans. Official Answer NTA (1)

Sol.

6 7 4
2
4 4 2 23MnO 4H 2MnO MnO 2H O

  
     

Reduction

Oxidation

ID : 1869

9. The most common oxidation state of Lanthanoid elements is +3. Which of the following is likely to

deviate easily from +3 oxidation state?

(1) Ce (At. No. 58) (2) La (At. No. 57) (3) Lu (At. No. 71) (4) Gd (At. No. 64)

ySUFksukW;M rRoksa dh lcls lkekU; vkWDlhdj.k voLFkk +3 gSA fuEufyf[kr esa ls fdldh +3 vkWDlhdj.k voLFkk ls

fopyu dh lokZf/kd laHkkouk gS \

(1) Ce (ijek.kq Øekad 58) (2) La (ijek.kq Øekad 57)

(3) Lu (ijek.kq Øekad 71) (4) Gd (ijek.kq Øekad 64)

Ans. Official Answer NTA (1)

Sol. Ce  [Xe]4f1 5d1 6s2

Ce+4  [xe] 4f° 5d° 6s°

Cerium in +4 oxidation state acquires inert gas

configuration.
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ID : 1870

10. The measured BOD values for four different water samples (A-D) are as follows:

A = 3 ppm; B = 18 ppm; C = 21 ppm; D = 4 ppm. The water samples which can be called as highly polluted

with organic wastes. are

(1) A and B (2) A and D (3) B and C (4) B and D

ty ds pkj uewuksa (A-D) ds fy, ekis x, BOD ds eku bl izdkj gSa %

A = 3 ppm; B = 18 ppm; C = 21 ppm; D = 4 ppmA ty ds uewus ftudks dkcZfud vif”k’Vksa ls vR;f/kd iznwf’kr dgk

tk ldrk gS] os gSa %

(1) A rFkk B (2) A rFkk D (3) B rFkk C (4) B rFkk D

Ans. Official Answer NTA (3)

Sol. Highly polluted water should have BOD value of 17

ppm or more

ID : 1871

11. The correct order of nucleophilicity is

ukfHkdjkfxrk dk lgh Øe gS %

(1) F– > OH– (2) 
2H O > OH


(3) ROH > RO


(4) NH
2
–  > NH

3

Ans. Official Answer NTA (4)

Sol. Stronger the base, greater the nucleophilicity.

ID : 1872

12. Oxidation of toluene to benzaldehyde can be easily carried out with which of the following reagents?

(1) CrO
3
/acetic acid, H

3
O+ (2) CrO

3
/acetic anhydride, H

3
O+

(3) KMnO
4
/HCl, H

3
O+ (4) CO/HCl, anhydrous AlCl

3

fuEufyf[kr fdu vfHkdeZdksa ls VkywbZu dk csUtsfYMgkbM esa ljyrk ls vkWDlhdj.k dj ldrs gSa \

(1) CrO
3
/,slhfVd vEy] H

3
O+ (2) CrO

3
/,slhfVd ,sugkbMªkbM] H

3
O+

(3) KMnO
4
/HCl, H

3
O+ (4) CO/HCl, futZyh; AlCl

3

Ans. Official Answer NTA (2)
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Sol. Use of chromic oxide (CrO
3
): Toluene or substituted toluene is converted to benzylidene diacetate on treating

with chromic oxide in acetic anhydride. The benzylidene diacetate can be hydrolysed to corresponding

benzaldehyde with aqueous acid.

 CH3

273 283K
+ CrO +  (CH CO) O3  3 2

CH(OCOCH )3 2 H O3

+



Benzaldehyde

CHO

ID : 1873

13. The major product in the following reaction

fuEufyf[kr vfHkfØ;k esa eq[; mRikn gS %

Hg(OAc) , H O2 2

(II) NaBH4

?
(I) 

(1) 

OH

(2) 

O

(3) 

OH

(4) 

OH

Ans. Official Answer NTA (1)

Sol.

Hg(OAc) , H O2 2

(II) NaBH4

H
(I) 

OH

Oxymercuration – Demercuration

Addition of H
2
O

Markovnikov’s addition without rearrangement

ID : 1874

14. Halogenation of which one of the following will yield m-substituted product with respect to methyl group as a

major product ?
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fuEufyf[kr esa ls fdl dk gSykstuhdj.k djus ij esfFky lewg ds lkis{k m-izfrLFkkfir mRikn] eq[; mRikn ds :i esa nsxk

\

(1) 

CH 

CHO

3

 (2) 

CH 3
NO2

(3) 

CH 3
OH

(4) 

CH 3

NO2

Ans. Official Answer NTA (3)

Sol. Electrophile will attack at ortho and para position with respect to better electron releasing group (ERG)

ERG : – OH > – CH
3

 CH3

OH

Para position with respect to – OH (+R) group and it will be meta position with respect to – CH
3
 group.

ID : 1875

15. The reagent, from the following, which converts benzoic acid to benzaldehyde in one step is

fuEufyf[kr vfHkdeZdksa esa ls dkSu&lk ,d pj.k esa csUtksbd vEy dks csUtSfYMgkbM esa :ikarfjr dj nsrk gS \

COOH

CHO

(1) LiAlH
4

(2) KMnO
4

(3) MnO (4) NaBH
4

Ans. Official Answer NTA (3)

Sol. Benzoic acid can be converted to benzaldehyde in presence of MnO.
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ID : 1876

16. The final product ‘A’ in the following reaction sequence

O

  CH  3  CH  2   CH  3– C –
HCN

?
95% H SO2 4

A
Heat

 is

fuEufyf[kr vfHkfØ;k Øe esa vfUre mRikn ‘A’ gS %

O

  CH  3  CH  2   CH  3– C –
HCN

?
95% H SO2 4

A
xeZ djus ij

 gS

(1) 
  CH  3  – CH   COOH = C –

  CH  3

(2) 
  CH  3  – CH   CN= C –

  CH  3

(3) 
  CH  3  – CH2 COOH– C –

  CH  3

OH

(4) 
  CH  3  – CH CONH2= C –

  CH  3

Ans. Official Answer NTA (1)

Sol.
HCN

3 2 3

O
||

CH CH C CH   

3 2 3

OH
|

CH CH C CH
|

CN

  

 

3

3

CH
|

CH CH C COOH

A

  

2 495%H SO



ID : 1877

17. Which statement is NOT correct for p-toluenesulphonyl chloride?

(1) It is known as Hinsberg’s reagent.
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(2) It is used to distinguish primary and secondary amines.

(3) On treatment with secondary amine, it leads to a product, that is soluble in alkali.

(4) It doesn't react with tertiary amines.

fuEufyf[kr esa ls dkSu&lk dFku p-VkywbZulYQksfuy DyksjkbM ds fy, lgh ugha gS \

(1) bldks fgUlcxZ vfHkdeZd ds uke ls tkurs gSaA

(2) bldk mi;ksx izkFkfed rFkk f}rh;d ,sehuksa esa Hksn djus ds fy, djrs gSaA

(3) f}rh;d ,sehu ds lkFk blds mipkj ds i”pkr~] izkIr mRikn {kkj esa foys;”khy gksrk gSA

(4) ;g r`rh;d ,sehuksa ls vfHkfØ;k ugha djrk gSA

Ans. Official Answer NTA (3)

Sol.

CH3

SO Cl2

Hinsberg’s reagent

H C3 S – Cl + 1° Amine

O

O

Soluble in alkali

H C3 S – Cl + 2° Amine

O

O

Insoluble in alkali

H C3 S – Cl + 3° Amine

O

O

No reaction
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ID : 1878

18. The final product ‘C’ in the following series of reactions

Sn/HCl
A

NaNO2 B
HCl 

NO2

–Naphthol
C

NaOH

fuEufyf[kr vfHkfØ;k Øe esa vfUre mRikn ‘C’ gS %

Sn/HCl
A

NaNO2 B
HCl 

NO2

–Naphthol
C

NaOH

(1) 
N = N

OH

(2) 
N = N

OH

(3) 

N = N

HO

(4) 

N = N

OH

Ans. Official Answer NTA (3)

Sol.

 NO2

Sn/HCl

 NH2

HNO /0°C2

N Cl2

+  –

–Napthol
OH

N=N
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ID : 1879

19. Which of the following is NOT an example of synthetic detergent ?

fuEufyf[kr esa ls dkSu&lk ,d la”ysf’kr viektZd dk mnkgj.k ugha gS \

(1) 
CH  – (CH )3 2 11 3SO Na 

(2) CH
3
 – (CH

2
)

16
 – COO– Na+

(3) 
CH  – (CH ) – N – CH3 2 15 3

CH3

CH3

Br–

+

(4) CH
3
(CH

2
)

16
COO(CH

2
 CH

2
O)

n
CH

2
CH

2
OH

Ans. Official Answer NTA (2)

Sol. CH
3
 – (CH

2
)

16
 – COO– Na+

Sodium stearate is a example of soap.

ID : 1880

20. Which one of the following is a water soluble vitamin, that is not excreted easily ?

(1) Vitamin B
2

(2) Vitamin B
1

(3) Vitamin B
6

(4) Vitamin B
12

fuEufyf[kr esa ls dkSu&lk ,d foVkfeu ty esa foys; vkSj vklkuh ls mRlftZr ugha gksrk gS \

(1) foVkfeu B
2

(2) foVkfeu B
1

(3) foVkfeu B
6

(4) foVkfeu B
12

Ans. Official Answer NTA (4)

Sol. Vitamin B
12

 is water soluble and not excreted easily.

ID : 1881

21. CNG is an important transportation fuel. When 100 g CNG is mixed with 208 g oxygen in vehicles, it leads to

the formation of CO
2
 and H

2
O and produces large quantity of heat during this combustion, then the amout of

carbon dioxide, produced in grams is __________. [nearest intcger]

[Assumc CNG to be methane]

CNG ,d egRoiw.kZ ifjogu bZa/ku gSA tc 100 g CNG dks 208 g vkWDlhtu ds lkFk ,d okgu esa fefJr djrs gSa rks

CO
2
 rFkk H

2
O ds lkFk Hkkjh ek=k esa Å’ek mRiUu gksrh gSA bl ngu esa dkcZu MkbvkWDlkbM dh tks ek=k ¼xzke esa½ mRiUu

gksrh gS] og __________ gSA [fudVre iw.kkZad esa]

[CNG dks esFksu eku yhft,]
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Ans. Official Answer NTA (143)

Sol.    4 2 2 2CH 2O g CO g H O  

100
mole

16
          

208
mole

32

           (LR)          
6.5

mole
2

2CO

6.5
W 44 143g

2
  

ID : 1882

22. In a solid AB, A atoms are in ccp arangement and B atoms occupy all the octahedral sites. If two atoms from

the opposite faces are removed. then the resultant stoichiometry of the compound is A
x
B

y
. The value of x is

__________. [nearest integer]

,d Bksl AB esa, A ijek.kq ?kuh; fufoM ladqfyr lajpuk esa O;ofLFkr gSa rFkk B ijek.kq lHkh v’VQydh; LFkyksa dks

v/;kflr djrs gSaA ;fn vkeus&lkeus ds Qydksa ls nks ijek.kq gVk fn, tk,¡] rks ifj.kkeLo:i ;kSfxd dh LVkWbfd;ksehVªh

A
x
B

y
 gks tkrh gSA x dk eku __________gSA [fudVre iw.kkZad esa]

Ans. Official Answer NTA (3)

Sol. A = 8(corner) 
1

8
 + 4[Face center] 

1

2
 = 1 + 2 = 3

B = 4[in all OV]

Formula = A
3
B

4
 = A

x
B

y

x = 3

ID : 1883

23. Amongst SF
4
, XeF

4
, CF

4
 and H

2
O, the number of species with two lone pairs of electrons is __________.

fuEufyf[kr SF
4
, XeF

4
, CF

4
 vkSj H

2
O esa ls mu Lih”kht dh la[;k ftuesa bysDVªkWuksa ds nks ,dd ;qXe gSa] __________gSA

Ans. Official Answer NTA (2)

Answer by Matrix (1)
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Sol.

Total
lone pairs
= 13

Total
lone pairs
= 14

Total
lone pairs
= 12

Total
lone pairs
= 2

F
F

F
F

F

F

F

F

F

H

FF
CXeS

H
O

F

··
··

··
··
··

··
··

··
··

··

··
··

··
··

··
··

··
··

·····
·

··

··

··

····

·· ··
·· ·· ··

··
·· ··

··

····

··

··

·· ··

ID : 1884

24. A fish swimming in water body when taken out from the water body is covered with a film of water of weight

36 g. When it is subjected to cooking at 100 °C, then the internal energy for vaporization in kJ mol–1 is

__________. [nearest integer]

[Assume steam to be an ideal gas. Given vapH
 for water at 373 K and 1 bar is 41.1 kJ mol–1; R = 8.31 JK–

1 mol–1]

tyk”k; ls rSjrh ,d eNyh ckgj fudkyus ij ty dh ,d 36 g ijr ls <dh gksrh gSA tc bldks 100 °C ij idkrs

gSa rks kJ mol–1 esa ok’ihdj.k dh vkUrfjd ÅtkZ __________gksrh gSA [fudVre iw.kkZad esa]

[Hkki dks vkn”kZ xSl eku yhft,A ty dh 1 bar rFkk 373K ij vapH
  = 41.1 kJ mol–1; R = 8.31 JK–1 mol–1]

Ans. Official Answer NTA (38)

Sol.    2 2H O H O gl
36

n 2mol
18

 

gU H n RT    
1 8.31 373

41.1 kJ / mol
1000

 
 

= 38 kJ/mol

ID : 1885

25. The osmotic pressure exerted by a solution prepared by dissolving 2.0 g of protein of molar mass 60 kg mol–
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1 in 200 mL of water at 27°C is __________Pa. [integer value]

(use R = 0.083 L bar mol–l K-l)

2.0 g izksVhu] ftldk eksyj nzO;eku 60 kg mol–1 gS] dks 27°C ij 200 mL ty esa ?kksydj ,d foy;u cuk;k x;k gSA

blds }kjk yxus okyk ijklj.k nkc __________Pa gSA [fudVre iw.kkZad esa]

(mi;ksx dhft,] R = 0.083 L bar mol–l K-l)

Ans. Official Answer NTA (415)

Sol.  = CRT = 

3

3

2 10

60 10 200

 
   

 × 0.083 × 300 = 0.00415 bar = 415 Pascal

ID : 1886

26. 40% of HI undergoes decomposition to H
2
 and I

2
 at 300 K. G for this decompostion reaction at one

atmosphere pressure is _____ J mol–1. [nearest integer]

(Use R = 8.31 JK–1 mol–1; log 2 = 0.3010, ln 10 = 2.3, log 3 = 0.477)

300 K HI dk ij H
2
 rFkk I

2
 esa 40% vi?kVu gksrk gSA bl vi?kVu vfHkfØ;k ds fy, ,d ,sVekWfLQ;j nkc ij

G __________ J mol–1 gSA [fudVre iw.kkZad esa]

(mi;ksx dhft,] R = 8.31 JK–1 mol–1; log 2 = 0.3010, ln 10 = 2.3, log 3 = 0.477)

Ans. Official Answer NTA (2735)

Sol.  HI g   2

1
H g

2
 +  2

1
I g

2

Initial mole 1 0 0

mole at eq. (1 – 0.4) 0.2 0.2

   
 

1/2 1/2

P

0.2 0.2
K

0.6




P

0.2 1
K

0.6 3
 

G° = – 2.3 RT log K
P

= –2.3 × 8.31 × 300 log 
1

3

= 2.3 × 8.31 × 300 log 3

= 2735.07 J/Mole

ID : 1887
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27. Cu(s) + Sn2+ (0.001M)  Cu2+ (0.01M) + Sn(s)

The Gibbs free energy change for the above reaction at 298 K is x  × 10–1 kJ mol–1.

The value of x is __________. [nearest integer]

2 2

–1

Cu ;Cu Sn /Sn
Given :E =0.34V; E = –0.14V; F = 96500 C mo1 

  
 

Cu(s) + Sn2+ (0.001M)  Cu2+ (0.01M) + Sn(s)

298 K ij mijksDr vfHkfØ;k ds fy, fxCl eqDr ÅtkZ esa ifjorZu x  × 10–1 kJ mol–1 gSA x dk eku __________ gSA

[fudVre iw.kkZad esa]

fn;k x;k gS % 2 2

–1

Cu ;Cu Sn /Sn
E = 0.34V; E = –0.14V; F = 96500 C mo1 

  
 

Ans. Official Answer NTA (983)

Sol. Cu + Sn+2  Cu+2 + Sn(s)

   cell RP RPC A
E E E   

= – 0.14 – 0.34 = – 0.48

 

2

2

Cu0.0591
E E log

2 Sn





    

= –0.48 –0.0295 log 10

= –0.5095 V

G = –nFE

= –2 × 96500 × –0.5095 J/mol

= 98333.5 × 10–3 kJ/mol

= 983.3 × 10–1 kJ/mol

= 983 × 10–1 kJ/mol

ID : 1888

28. Catalyst A reduces the activation energy for a reaction by 10 kJ mol–1 at 300 K. The ratio of rate constants.

1K ,Catalysed

K, Uncatalysed
 is ex. The value of x is __________. [nearest integer]

[Assume that the pre-exponential factor is same in both the cases. Given R = 8.31 JK–1 mol–1]

300 K ij ,d vfHkfØ;k dh lfØ;.k ÅtkZ dks mRizsjd A, 10 kJ mol–1 ?kVk nsrk gSA osx fu;rkadksa dk vuqikr
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k

k

T,Catalysed

T, Uncatalysed
, ex gSA x dk eku __________ gSA [fudVre iw.kkZad esa]

[eku yhft, nksuksa ds pj?kkrkadh xq.kd leku gSaA R = 8.31 JK–1 mol–1]

Ans. Official Answer NTA (4)

Sol.
Ea

RTK Ae



1
aE Ea

RT RT
cat uncat.K Ae , K Ae

 

 

1
a aE E 10 1000

4.009 xcat 8.31 300RT

uncat.

K
e e e e

K

 

   

 x = 4

ID : 1889

29. Reaction of [Co(H
2
O)

6
]2+ with excess ammonia and in the presence of oxygen results into a diamagnetic

product. Number of electrons present in t
2g

–orbitals of the product is __________.

[Co(H
2
O)

6
]2+ dh veksfu;k dh vf/kdrk esa] vkWDlhtu dh mifLFkfr esa vfHkfØ;k ls ,d izfrpqEcdh; mRikn curk gSA

mRikn ds t
2g

– d{kdksa esa mifLFkr bysDVªkWuksa dh la[;k __________ gSA

Ans. Official Answer NTA (6)

Sol. [Co(H
2
O)

6
]2+ +NH

3
(excess) 2O [Co(NH

3
)

6
]3+ + 6H

2
O

                           Diamagnetic

                                   

                           Low spin complex

Co3+  3d6 4s0

 t
2g

6 e
g
0

Total number electrons = 6

ID : 1890

30. The moles of methane required to produce 81 g of water after complete combustion is __________ ×

10–2 mol. [nearest integer]

esFksu ds eksyksa dh vko”;d la[;k tks iw.kZ ngu ds i”pkr~ 81 g ty mRiUu djrh gS] og __________ × 10–2 eksy

gSA [fudVre iw.kkZad]

Ans. Official Answer NTA (225)

Sol. CH
4
 + 2O

2
   CO

2
 + 2H

2
O

1 mol CH
4
   2 mole H

2
O

36 gm H
2
O   1 mole CH

4

81 gm H
2
O   

1

36
 × 81 mole CH

4


